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B Grey line: exponential fit Peak flux: 5.197+/- 0.833 c/s/cm? B
[ Black line: power law + gauss fit Fluence : 40.05+/- 4.83 c/cm? 7
- Dashed line: power law o ) ’ —
| Duration: 17.56+/- 2.68s i
| Best fit model: 1. ]
B Best fluence model: 1. i
| Best duration model: 1. |
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; Exponential fit é
= Expon.time: 5.45+/- 0.79 s (chi*red= 1.12) 3
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; Power law fit é
= Power law index: -1.699+/- 0.168 (chi’-red= 1.14) 3
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— Power law fit plus Gaussian (st.dev.= 14.60+/-***** s, fracgs= 0.00+/- 0.00) =
- Power law index: -1.658+/- 0.003 (chi*-red= 1.15) 3
= bt by i ol 1 ot ot b
- ‘HﬂﬂﬂﬂMﬁ% ﬂﬂﬂﬂﬁwHﬁﬂﬁw*ﬁﬁwmWﬂﬁ jﬁ#ﬁMﬂwH*WWWﬂﬁﬂHMW#GHWWHW*#*WwMﬂ*ﬁwﬂ“ﬂﬂ*ﬁ ﬁmﬁﬁﬁﬂﬂﬂMﬁ*jWﬂ%
= b bt 3
E | I I I I I I I I I | I I I I I I I I I | I I E
0 100 200 300

Time [s]



